MATEMATIK TAMBAHAN
KERTAS 1

PERATURAN PEMARKAHAN
PEPERIKSAAN PERCUBAAN

SPM 2019
NO SKEMA MARKAH
1 |(a)6.284cm 2
B1: (6 x 0.10473) or (6 x g)
(b) 37.70cm? 2
. 1 2 1 2 2T
B1:3(6)%(2.0947)or 5 (6)* ()
2 k=3
3
B2 : 90 = 4mk? x 2.5
Bl: % = 90mem3s~t or £ = 2.5cms ™!
dt dt

3 |, (p?+1) 3

X — Xx+1=0

p
(p?+1)
B2:  SOR :L J and POR = 1 (Both)
(p?+1)

Bl1: SOR=£ JOR POR=1

4 | p<4,p=12 4

= =
4vu

B2: (p-12)(p-4)=0
Bl: X’ +px+4p-12=0 OR p*—4(1)(4p-12) >0




m=—
n=-—

@ f(x) = (x—4)°— 4
B1: f(x) =x*—8x +12

O p=12
© x=4
a=27
B2 [1\] (3)
a® | =(3)°

Bl: an°®
X =2.444
B2: Iogji@zﬂz

N
B1: log 6-109:(x=2)_,

3 log, 9
x =1.547
B2: xlog6 = logl6 atau x(log2+log3)=Ilog4+2log2
B1: Z .3*=4 atau (x — 2)log 2+ xlog3=log 4

22
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n=25

B2: 250:[2 68]@658 32 (—1)(J

25 5
Bl: d= :i
10
11 | n=152
F 2(1- 0.5%) |
=2+(n-1)0.5
105
B1:
12 | 8.30 pagi Selasa
B3: n=51
B2:  1000(1.15)"">1000000
Bl1: r=115
13 | a) log,,y =—5l0g; X+10g,, p
b) p =100
Bl  log,p =2
14
p=2&Qq=3
g3. 2@ +8(p)_,, 4@ +14(p) 4
pP+q pP+q
B2: M (2,8)
B1: X+6=-x+10
15

Bl: 6°+8
(b)p=5
B1: A=2
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Luas = 61.283 cm? or 2 7zcr1n2
B2:  ~(7)°(0.5236*) — ~_(5)*(0.5236*) or
2 2

L™ - Loy
2 6 2 6

B1: (7)% (0.5236*) or L (5)*(0.5236*) or
2

L™ or sy ("
2 6 2 6
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0=120°
B3: x =60°,300°
B2:  (2cosx-1)(2cosx—3)=0
B1: 4(1—cos2 x) +8cosx—7=0
Let say,

Hy

=L
2
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k=13, n=2 (both)

13
(x+5)°

B2:

B1:
2(x +5) — (2x — 3)1)
(x+ 5)?
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Berat =79.19 ¢

B2: 50.67zcm’- 32zcm®

[ i T
B1: 25X —-5X"+— | —-rm|16
ﬂ{ X —5x" + 3J 7[16x]

-1

1
-1
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¥ X 11

4
y=_ -+ atau 6y=3x—2x +11
2 3 6
B2: <c= 1i
6
2= E—E +C
2 3
4 3
Bl: y= X X e
2 3
21 | a) 1200
B1: 3500+ 2500+ 2(28800) +3000+3x _ 9975
b) 1550
B1: 1200 + 350
22 (@)1
(b) 100
B1l: °C x°C
3 2
23
Peratusan = 20%
‘P x1
B3: 45 x100
5
B2: °P and “P x1
5 4
5 4
B1- P5 or P4 x1
24 | 0.9127
B2 205.36
225

BL: 15> —(3.142)(2.5)" =205.36
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d Oy =36.51
Oha =51.64

b Alpha=Normal curve m

Beta= Normal curve n




